PreAP Geometry Worksheet
Unit 8

I Constructions.
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The Triangle Midsegment Theorem
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1. Construct the midsegment of AABC’ which is
parallel to 4B.
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2. Construct the midsegment of ADEF which is
equal to half the measure of DE .
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C'G EH ,and FJ are mcdsegmen'rs of AABD AGCD , and AGHE , respec’ﬂvely Find eachf:)(‘ @
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IV. AKLM is the msdsegmem‘ friangle of AGHJ .

GH =12 | [ 12. What is the perimeter of AGHJ ?
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13. What is the perimeter of AKLM ?
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14, What is ?he r‘elaﬂonshup between the pemmefer
of AGHJ and the perimeter-of AKLM > - -
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V. Coordinate Geometry. :
15. Graph AABC , given A( ) —5) 16. Find and graph point D, the midpoint of AB . Find and graph
B(-3,5),and C(7,-1). point E, the midpoint of BC. Then draw in DE .
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DE is also known as a YA AJ}@W&;{/ ‘ of
AABC .

18. What properties are true of a triangle's midsegment?
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20. Without actually finding it, what would be m L ? How do you know this?
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21. Find the equation of the line con‘rammg DE in standard form. \(5 = l D%+ ?_L‘i@
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23. Without actually finding it, what would be 4C> How do you know this?
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